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Cluster: 0060 ptr; resid: 0.37; r/c: 39/64

x.range

upstream meme PSSM #1; e=2.6e−05

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=120

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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11940

55122
13578

13779

1539918533

16786

21519

55230

43058

1129

12810

14096

15083

15472

15795

21501

23164

2849732237 32929

33757

34631

37671

38338

40031

40080

41157

44430

45036

45135

46418

47192

47589

48657

49158
50544

50577

5466

string −500 −400 −300 −200 −100 −1
11940−0.05
41157−0.06
45135−0.10
21519−0.14
44430−0.16
38338−0.34

1129−0.44
14096−0.48
32929−0.55

5466−0.58
40031−0.61
15083−0.68
33757−0.97
21501−1.03
16786−1.04
47192−1.29
15399−1.41
43058−1.60
46418−1.79
13779−2.11
15472−2.31
23164−2.37
47589−2.41
50544−2.71
32237−2.76
49158−2.87
13578−2.96
45036−3.63
34631−3.90
18533−4.03
12810−4.34
50577−4.77
55122−5.13
28497−5.90
48657−6.19
55230−6.27
15795−7.27
37671−9.42
40080−11.96

log10(P) upstream meme1 2 log10(P.clust)=−2.73; 39 seqs; 39 uniq
c(0.5, 2.5)
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